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2N 23
AH S

M MEHS |4
SR BEAWLYE 2 B2 CERED
2N -3 -2 (SH) - NHEMY - BES Off &F o4 I E M Husz
BN EEE 12,750,008 * 16% 2,040 0 2,040
o Al 3,0008 * 12 + 202 * 62 360 0 360
o 2e= 23 200,009 + 1% 200 1,600 A1,400
o RINMER SN2 PHE
1,850,000%! 1,850 0 1,850
T[NP =5 L 2Y 1,352,566 1,002,566 350,000
YN 29 2el 1,146,975 796,975 350,000
SHTY 2 22 948,215 598,215 350,000
401 A& HI LSO HI 750,000 400,000 350,000
01 Al 746,000 400,000 346,000
o BEYTHB 222Y L T WA A
23 746,000,0008 * 14 746,000 400,000 346,000
03 Al = Ch bl 4,000 0 4,000
o BEYTHB 222Y L I WA AL
4,000,008 * 14! 4,000 0 4,000
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